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NEW QUESTION 1
Identify two statements that are true about the cost-organization relationship.

A. Costing Item Validation Organization can only be Item Master Organization of the underlying inventory organizations.
B. Only Inventory organizations belonging to different ltem Master Organizations can be part of a cost organization.

C. Costing Item Validation Organization is used to default the Unit of Measure for costing calculations.

D. The inventory organizations that are assigned to a cost organization must all belong to the same legal entity.

Answer: CD

NEW QUESTION 2

Your organization is planning for a periodic counting of individual items automatically throughout the course of the year. As part of this activity, the user has loaded
items to the cycle count but some of the items are not being considered when count schedules and count sequences are not generated.

Identify two reasons that explain why the items are not being considered.

A. The ABC assignment group is not defined.

B. The Include in Schedule option is not selected to include the item for auto-scheduling.
C. The Cycle Count Enabled flag is not selected for the inventory organization.

D. The Cycle Count Enabled flag is not selected for the item.

E. The approval controls are not set up.

Answer: DE

NEW QUESTION 3
You need to load on-hand balances for go live. Which template should be used for this?

A. InventoryBalancelmportTemplate.xlsm

B. InventoryReservationimportTemplate.xlsm
C. InventoryTransactionimportTemplate.xlsm
D. InventoryOnHandBalanceTemplate.xlsm
E. InventoryMiscellaneousTrxTemplate.xlsm

Answer: C

NEW QUESTION 4
Which code snippet indicates that the page you are designing is capable of handling errors?

A. <% @page errorPage="errorHandler.jsp"%>

B. <%= requestScope[‘javax.servlet.error’] !=null %>
C. <%@page isErrorPage="true"%>

D. <c:set var="errorHandler” value="true"/>

Answer: C

NEW QUESTION 5

Your customer has received 50 boxes of item A (priced at $10 per box) and these items are transferred to the asset Inventory organization. There are no additional
guantities in any of the inventory organizations apart from the received 50 boxes. After running all the necessary cost accounting and receipt accounting processes
successfully, the item valuation for item A is still zero.

What is the reason?

A. Items are not consigned items but ownership is still with the supplier.
B. Items are consigned items and ownership lies with the supplier.

C. ltems are consigned and ownership is transferred to “owned”.

D. Items are not consigned items and ownership is with the organization.

Answer: B

NEW QUESTION 6
How can you inject a target web service into an EJB?

A. Define service as an injectable resource by using the <resource-ref> declaration.
B. Use a HandlerChain.

C. Use a java.xml.ws.WebServiceRef annotation.

D. Use a java.xml.ws.WebServiceContext annotation.

Answer: A

NEW QUESTION 7
While creating the consignment agreement, you have set the consumption advice frequency to “monthly” and the billing cycle close date to “31st August, 2020".
What will happen when you run the consumption advice process on 31st August, 20207?

A. No consumption advice is created.

B. Consumption advice is created and the next closing date is set to 30th October, 2020.

C. Consumption advice is created and the next closing date is set to 7th September, 2020.
D. Consumption advice is created and the next closing date is set to 30th September, 2020.
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Answer: D

NEW QUESTION 8

Reorder quantities for an item subinventory are calculated using Fixed Lot Multiple and Round Order Quantity. Assume that the reorder quantity is 24 and you
specify 10 for the fixed lot multiple and enable rounding the reorder quantity.

What will be the reorder quantity?

Answer: A

NEW QUESTION 9
You defined an Inventory Organization that is meant to track the contract manufacturing process outsourced to a supplier.
Where do you mention that this Inventory Organization is meant for one particular supplier?

A. Manage Inventory Organization Locations

B. Manage Subinventories

C. Manage Inventory Organizations

D. Manage Contract Manufacturing Relationships
E. Manage Item Organizations

Answer: C

NEW QUESTION 10
Your client has just up their chart of accounts. They are now designing the organization hierarchy in the system.
Which three structures should the customer use the to do this?

A. Warehouse, Subinventory, and Locators

B. Cost Centers, Organizations, and Locations

C. Cost type, Default Cost Structure, and Item Organization
D. Divisions, Business Units, and Departments

Answer: D

NEW QUESTION 10
Java EE’s support for WS-Security includes handling which two types of security credentials? (Choose two.)

A. X.509 certificates

B. SAML tokens

C. OAuth Bearer tokens

D. Two-factor authentication tokens

Answer: AB

NEW QUESTION 14
On the Supply Lines Overview page, the deviations in supply type chart show a supply line status of exception.
What action must you take?

A. This indicates that supply line quantities are available but the quality is not up to the mark, so the quality issue must be resolved.
B. The indicates that supply line has an exception in manufacturing goods, so the supply line must be changed.

C. This indicates that supply line quantities are less than required, so additional quantities must be procured to meet the requirement.
D. This indicates that supply line quantities are not available, so inventory must be procured.

Answer: C

NEW QUESTION 17
Given the code fragment:

@Resource(lockup = "java:comp/ DefaultfMSConnectionFactory")
private ConnectionFactory cf;
ZResource(lookup = "jms/MyTopic")
private Topic topic;
public void action() {
try (JMSContext ctx =
cf.createContext{TMSContext. SESSION_TRANSACTED);) {
IMSConsumer ¢l = ctx.createConsumer(topic, "(grade > 30)");
IMSConsumer ¢2 = ctx.createConsumer(topic, "(grade <= 50)");

}

How are transactions managed?

A. through a single shared transaction across the connection factory
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B. through a separate transaction per JMS Consumer
C. through a single transaction for the entire IMS Topic
D. through a single shared transaction in the JMS Context

Answer: D

NEW QUESTION 18
Given the code fragment:

1. JAXBContext jc
. Unimarshaller u

JAXBContext.newInstance( "com.oracle.foo" );
je.createUnmarshaller();

2
3.
4. InputStream in new FileInputStream("fooStuff.xml");
5. Object 0 = w.unmarshal (in );

Which method should be used on line 3 to enable default validation mechanism?

A. u.setProperty(String, Object)

B. u.setProperty(Schema)

C. u.setEventHandler(ValidationEventHandler)
D. u.setAdapter(XmlAdapter)

Answer: D

NEW QUESTION 22

Your supplier sent you stock against a consigned agreement. You transferred at the stock to owned and generated a consumption advice. An invoice was raised
by the supplier and the payment made. A few days after using some of the quantities of the stock, you realized that some of the stock sent by the supplier is not of
suitable quality and you need to send the stock back.

What is the process of returning the material?

A. You have to cancel the invoice and send the material back without changing the ownership.
B. Return the material and create a debit memo for the supplier.

C. You cannot return consigned items that are invoiced and pai

D. Treat the material as scrap.

E. You have to transfer the ownership of item and perform the return transaction.

Answer: B

NEW QUESTION 27
How do you specify a default error page in your web.xml file?

A. <on-error><location>/general-error.html<location></on-error>

B. <error-page><error-code>*</error-code><location>/general-error.htmi</location></error-page>
C. <on-error><error-code>*</error-code><location>/general-error.html</location></on-error>

D. <error-page><location>/general-error.html</location></error-page>

Answer: B

NEW QUESTION 29
Given the code fragment:

@Path ("Employees")
public class EmployeesResource (
@Inject privace EmployeeManager em;
et
@Path("{id:[A-Z] [0-9]+}")
public Employee getEmployee(@PathParam("id") String id) {
return em.findEmployee(id);
)
]

Which URL triggers the invocation of the getEmployee () method?

A. <base url>/Employees/89724
B. <base url>/Employees/J6349
C. <base url>/Employees/id:a7280
D. <base url>/Employees/id/J6349

Answer: B

NEW QUESTION 32

While negotiating the terms of the consignment agreement, the buyer and the supplier mutually agree to set aging onset point as receipt and the aging period as
five days. The terms also say that the consumption advice will be generated daily.

In which three scenarios will the goods be transferred from the supplier’s ownership to buyer’'s ownership?

A. You received the goods today and you decided to issue the goods after days without transferring the ownership.

B. You received the goods today and for the next one week you do not plan any action on the same.
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C. You received the goods today after six days you decide to transfer the ownership using the “create transfer to consigned transaction” task.
D. You received the goods today and you transfer the ownership using the “create transfer to owned transaction” task.

E. You received the goods and after four days you return the material to the supplier.

F. You received the goods today and after three days you transfer the ownership using the “create transfer to consigned transaction” task.

Answer: ABD

NEW QUESTION 36

You are currently implementing Oracle Cloud for the Singapore entity of your multinational customer. Their head office is located in Japan. Apart from Singapore,
their other entities are using a legacy system.

Their requirement is to implement Oracle Cloud in such a way that at the end of the financial year, all their financial reporting should be in Japanese Yen.

How will you fulfill the above requirement?

A. Define one primary ledger with Japanese Yen currency so that all the subledger data gets converted to Japanese Yen automatically.

B. Define one primary ledger with SGD (Singapore Dollars) as primary currency and use the reporting currency functionality to provide the necessary data in
Japanese Yen currency.

C. This requirement cannot be fulfilled.

D. Define two ledgers one in SGD (Singapore Dollars) and one in Japanese Yen and transfer data of all the subledgers in these two primary ledgers.

Answer: B

NEW QUESTION 40

During Cloud Inventory implementation your customer requires you to enable the Oracle Transactional Business Intelligence (OTBI) KPI to review the list of
standard reports which is useful for their current business scenario. When navigating to reports and analytics, the warehouse dashboard doesn’t show any KPI
watchlist.

Identify two causes. (Choose two.)

A. Logistics Business Intelligence Analytics is enabled.

B. Logistics Business Intelligence Analytics is not implemented.

C. Organization is not enabled for warehousing.

D. Data permissions for the organization being referenced are not set up.

E. Supply Chain and Order Management Business Intelligence Analytics is not enabled.

Answer: BE

NEW QUESTION 44
Your customer has a complex financial reporting structure.
Which three elements should you define first in order to form a basis for this reporting?

A. Tax, Legal, and Industry

B. Managerial, Operational, and Industry
C. Legal, Managerial, and Functional

D. Legal, Autonomy, and Operational

Answer: C

NEW QUESTION 47
Given the code fragment:

Account.java:

public class Acount {
private int accld = 12345;
/[ getters and setters

Customer.java:

public class Customer {
private Account acc; //line 1
public void setAcc(Account acc) // line 2
{ this.acc=acc; }
public Account getAcc() // line 3
{ return acc; }

And
index.xhtml:

<h:outputText value = "The Id is #(customer.acc.accld)" />
Which two steps, when performed independently, enable the index.xhtml page to print the following text: The Id is 12345? (Choose two.)
A. Replace line 2 with: @Inject public void setAcc(Account acc)
B. Replace line 3 with: @Inject public Account getAcc()

C. Replace line 1 with: @Inject private Account acc;
D. Replace line 3 with: public @Inject Account getAcc()
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E. Replace line 1 with: private @Inject Account acc;
F. Replace line 2 with: public void setAcc(@Inject Account acc)

Answer: DF

NEW QUESTION 52
Given:

S/ line 1
public class Mymapper {
TPrePassivate
public void setPinDrop() {}
EFPostActivate
public void checkLocation() {}
1

What code needs to be added to line 1 for MyMapper bean instances to be correctly passivated?

A. @Stateless @PassivationCapable
B. @Stateless

C. @Stateful @PassivationCapable
D. @Stateful

Answer: D

NEW QUESTION 57
Given the code fragment:

1: @FReguestScoped
2: public class BankActivityService {

public void notifyDebit{BankEvent be) { }

public void notifyCredit{(BankEvent be) { }

e NSO Ee W

Which code can be added to register both of these methods to receive BankEvent notifications only if an instance of BankActivityService is already instantiated in
the current context?

A. @Observes(notifyObserver=IF_EXISTS) on line 3 and line 6

B. @Observes(during=IN_PROGRESS) on line 1

C. @Observes(during=AFTER_COMPLETION) on line 1

D. @Observes(notifyObserver=IF_EXISTS) on line 4 and line 7 before method parameter declaration

Answer: A

NEW QUESTION 61
You have been assigned to the Widget Editor portion of an application. It contains a Widget Editor Facelet page, the Widget class, and a simple WidgetEditor
backing bean, which contains a reference to the current Widget instance.
Given the code fragment from the Widget class:
public class Widget implements Serializable {
private String name;
private Date createdDate;
private boolean approved;

}

Given the code fragment from the Facelet page:

n s

<h:messages id="messages" />

<h:form id="widgetForm">
<h:outputLabel for="name" value="Name:"/ >
<h:inputText id="name" value="#{widgetEditor.widget.name}" />
<h:outputLabel for="createdDate" value="Created Date:"/>
<h:inputText id="createdDate"

value="#{widgetEditor.widget.createdDate}"/> <!--Linel-->
<h:outputLabel for="approved" value="Approved:"/ >
<h:selectBooleanCheckbox id="approved"
value="#{widgetEditor.widget.approved}"/ >

<h:commandButton value="Save" action="#{widgetEditor.save}"/ >

</ h:form>

The page displays Conversion Error when a user fills out all the form fields and clicks the Save button. Which step do you perform to fix this problem?
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A. Replace Line 1 with:<h: inputText id="createDate"value="#{widgetEditor.widget.createdDate}'converter="java.util. Date"/>

B. Enclose the code fragment within the <f:view/> tag
C. Insert <f:convertDateTime"/> at Line 1
D. Replace Line 1 with:<h:inputText id="createDate"value="#{widgetEditor.widget.createdDate}"><f:convertDate Time pattern="dd-mm-yyyy"/></h:inputText>

Answer: D

NEW QUESTION 64
Identify two valid WebSocket message types for which you can register handlers. (Choose two.)

A. Error Message
B. Binary Message
C. Pong Message
D. Ping Message

Answer: BC

NEW QUESTION 66
Which three types of jurisdictions should be considered while designing the Enterprise Structure?

A. Labor Jurisdiction
B. Obligatory Jurisdiction
C. Local Jurisdiction

D. Income Tax Jurisdiction

E. Transaction Tax Jurisdiction
F. Identifying Jurisdiction

Answer: DEF

NEW QUESTION 71
Your customer is managing a large sales team divided in two different geographies in the USA. They have the Est Coast sales team and the Central sales team.
Both teams are handled by one manager and perform the same function.
Your customer wants to track the expenses of the two teams separately; however, they do not consider them different as they are handled by one manager only.
How will you fulfill the requirement?

A. Define them as a single department and two separate cost centers.
B. Define them as two separate departments and a single cost center.
C. Define them as one department and one cost center.

D. It is not possible to fulfill the requirement.

Answer: A

NEW QUESTION 72
Your company is an automobile spares manufacturing organization, which follows a discrete process. It has its own manufacturing and distribution centers located

globally.

It has these business units: US - USA business unit
CAN - Canadian business unit UK - UK business unit

MX - Mexican business unit IND - India business unit SPA - Spain business unit FRA - France business unit

NL - Netherlands business unit GER - Germany business unit
These are the inventory organizations that exist in each business unit:

Inventory Org - business unit

GM
Us1
52
CAl
M1
IN1
5P1
FR1
MNL1
DEL

(M aster Org)
(Child Org)
(Child Org)
(Child Org)
(Child Org)
(Child Org)
(Child Org)
(Child Org)
(Child Org)
(Child Org)

us
us
us
CAN
M X
IND
SPA
FRA
NL
GER

Which two statements are true?

A. All inventory organizations do not need to be in the same business unit to assign items.
B. Item organizations are also supported to serve as inventory organizations.
C. ltems cannot be assigned to inventory organizations across business units.

D. Items defined in the GM organization can be assigned to US1, US2, NL1, and MX1 inventory organizations.

E. Operational Attributes can be controlled only at the Master Level.

F. You can define an item in the IN1 inventory organization and assign it to the DE1 inventory organization.

Answer: AD

NEW QUESTION 75
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Given the code fragment:
// line 1
public class DataConverter

implements AttributeConverter<LocalDate, Date> {
[ fimplementation

@Entity
J// line 2
public class Customer {
// line 3
private localDate birthday;
/ /remaining implementation

}

How can you apply DateConverter to the birthday field?

A. by adding @Convert(to=Date.class) at line 3

B. by invoking the setConverter(DateConverter.class) method on the EntityManager object
C. by adding @Converter(autoApply=true) at line 1

D. by adding @Convert((DateConverter.class)) at line 2

Answer: A

NEW QUESTION 77
Which two elements CANNOT be injected by using an @Inject annotation? (Choose two.)

A. static fields

B. instance fields declared final
C. concrete methods

D. abstract methods

Answer: BD

NEW QUESTION 81
Which three statements are true for an expense destination transfers that does NOT require a receipt at destination inventory organization?

A. There is no cost associated to the transaction.

B. There is no put away transaction in Inventory since the item is expensed.

C. Areceipt is required on interorganization expense destination transfer orders between the from and to organizations.
D. The transfer order is considered received and delivered at the time of shipment.

E. The destination inventory is not incremented.

Answer: ABE

NEW QUESTION 85
Your class requires multiple resources defined, as shown in the following:

W00 (|
@Resource(name="aFactory",
type="javax.jms.ConnectionFactory"),
EResourcelname="aSession",
type="javax.mail.Session">

1)

Which annotation do you use to group multiple @Resource declarations together for class-based injection, replacing <XXXX> in the code above?

A. @Resources

B. @Resource

C. @ResourceGroup

D. @ResourceCollection

Answer: B

NEW QUESTION 86
You need to exchange large binary messages using chunks in a WebSocket application. Identify two ways in which you can receive partial messages. (Choose
two.)

A. Define an @OnMessage method with a single MimePart parameter.

B. Use a ChunkListener interface implementation.

C. Use a MessageHandler.Partial<ByteBuffer> interface implementation.

D. Define an @OnMessage method with byte [] as the first parameter and a boolean as the second parameter.

Answer: CD
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NEW QUESTION 88

Your customer is setting up serial control. The requirement is that if item A has serial 123, then they don’t want item B to also have serial 123 within the same
inventory organization.

Which serial control setting must be used to meet this requirement?

A. Unigue across Enterprise

B. Unique within items

C. Unique within organization

D. Unique across organizations

E. Unique within Item and organization

Answer: C

NEW QUESTION 91
You are working with JMS publish-subscribe operations.
What happens when a producer publishes a message to a topic for which a durable subscription exists but there are no subscribers available?

A. The publisher waits for a subscriber, who then consumes i

B. However, the publisher will time out if no consumer arrives within the given timeout period.

C. The publisher sends the messag

D. However, it is never consumed because there wasn’t anything listening when it arrived, regardless of the message timeout length.

E. The publisher successfully sends a message, which will be consumed later, once there is a subscriber, assuming the message hasn't timed out.
F. The message publisher is immediately notified about the lack of subscribers and can decide for itself if, and when, to resend.

Answer: C

NEW QUESTION 94
Which two capabilities are provided by the Java Authentication and Authorization Services (JAAS) API? (Choose two.)

A. protecting data from unauthorized viewing by using encryption
B. verifying that a user is allowed to perform an action

C. ensuring that data is not modified in transit

D. verifying identity claims from users

Answer: BC

NEW QUESTION 98

Your client has decided that Discrete Manufacturing will be implemented at a future stage, so any new supply from current manufacturing will be added to current
inventory by the Open Transactions Interface. The immediate requirement is to go live with Inventory and Order Management.

Which two seeded transaction types can be omitted for material status control?

A. All Transaction Types Related to Work in Process
B. Average Cost Update

C. Backflush Subinventory Transfer

D. Miscellaneous Issues and Receipts

E. All Internal Transactions

Answer: AC

NEW QUESTION 103

A third-party service equipment is used for various purposes in a manufacturing facility and needs to be overhauled once a year. This equipment is charged based
on its consumption without a project dependency.

At this point, it should be transferred out of the vendor’s warehouse for maintenance and then returned back in the future depending upon the requirement.

The material stock transfer should happen with an offline approval and with an account alias as a logical reference.

What is the ideal way to handle this process?

A. Transfer Order

B. Requisitions

C. Move Request

D. Miscellaneous Transaction
E. Subinventory Transfer

Answer: D

NEW QUESTION 107

The Applications Development Framework Desktop Integration (ADFdi) user interface is supported in Oracle Fusion Receiving, Inventory Management, and
Shipping products.

Identify four ADFdi user interfaces that are supported.

A. Upload ASN or ASBN

B. Manage Lot/Serial Interface

C. Manage Inventory Transaction Correction in Spreadsheet
D. Review Receipts Interface

E. Review Count Interface Records

F. Manage Shipment Message Interface

Answer: BCDF
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NEW QUESTION 112
How can you configure, in a portable way, the number of threads used by a ManagedExecutorService?

A. programmatically, using a ManagedExecutorService

B. using the ManagedExecutors utility class to define the execution properties

C. This cannot be done because this configuration is dependent on the Java EE Product Provider.
D. configuring the thread pool info in the deployment descriptor

Answer: A

NEW QUESTION 115
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